= AH O
N = 0 &8 AF S & Al A
2010 = 20A LBHSIH OIS XD ~ OISR &
A FOIMET S
. J) B2Eae L XN (AI=EX/BE
ER: 2B EHAALS (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
FOIMET 50,552,928 46,505,498 4,047,430
= 27,001,245
2 887,844
< 7,408,378
= 15,255,461
=2 222 & XN (A=EX/ES) 3,022,520 521,300 2,501,220
= 1,044,000
== 1,057,800
= 920,720
2B S LAY 3,022,520 521,300 2,501,220
= 1,044,000
< 1,057,800
= 920,720
SR @X 2 7,800 7,800 0
[==4 3,800
= 4,000
307 QI2to| A 7,800 7,800 0
== 3,800
= 4,000
02 DI2ZtAAEX 7,800 7,800 0
OSHI BT ALY 3,800
—SER2X X2 3,800,000 3,800
< 3,800
OSERZA XZ2IH X2 100,000 *407| 4,000
S SSA HiA HE 20,000 0 20,000
== 10,000
= 10,000
307 GI2t0IA 20,000 0 20,000
< 10,000
= 10,000
02 QI2tAAEZX 20,000 0 20,000
OSHI BT ALY 20,000
—=S2SIN HiA AHE 20,000,000& 20,000
< 10,000
= 10,000
BscH X 370,320 345,600 24,720
202 0OfHl 4,320 3,600 720
01 2o Y| 4,320 3,600 720
OE&HH g% 4,320,000 4,320
203 YRF=XH| 1,000 1,000 0
03 AIHFRHRF=ZEY| 1,000 1,000 0
OEEHH 22 ge=x=x 1,000,000 1,000
206 X 2H| 2,000 2,000 0
01 MZ2H| 2,000 2,000 0




SN

M 20 2222 L NA(AMS=SX/BEE)
Sl 2NRELAAY (=T R-E
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
0228 =8 nO22 L I}H2S 228 7Y
2,000,000& 2,000
301 EtBA = 244,000 244,000 0
01 A2IEEE <063 244,000 244,000 0
O8RS FHAM-E XS
20,0003 *1,000& 122 240,000
OEERESN AIZRAZ2Z XI= 200,000 x20H 4,000
307 QI2t0IA 119,000 95,000 24,000
02 BltAAE X 49,000 24,000 25,000
OE=HH etBu=s 39,000,000& 39,000
OM&g=Zolsl HMe0=E I8 &AHl XI&
10,000, 000& 10,000
03 AtRIEMELS 70,000 71,000 A 1,000
Oo2=HxHd XA 70,000,000& 70,000
OH=KIAF & 2FAFS 36,400 67,900 A 31,500
206 M= dl 20,000 21,500 21,500
01 MHZ bl 20,000 21,500 A 1,500
O3NS BX 2M(EE) HME 2=
20,000,000& 20,000
301 LptEaag 6,400 6,400 0
10 EALAHIEA S 6,400 6,400 0
OBSY ZEHMN BAT 242
10,000& =400 4,000
O2&HM 2. & SHAA A B3
30,0003 x20F *x23| 1,200
O==z34dgoyY 4L 24= 30,0002 *40H 1,200
307 QI2t0IA 10,000 30,000 220,000
02 2ItBAE X 10,000 30,000 220,000
O3.1SEEN2s I8 A 10,000, 000& 10,000
SSAE A8 2,588,000 0 2,588,000
= 1,044,000
o= 1,044,000
i 500,000
401 AEHI L2048 2,588,000 0 2,588,000
= 1,044,000
= 1,044,000
= 500,000
01 Al&H| 2,578,683 0 2,578,683
OZHIEZ ALY 2,578,683
—dEANE HE 2,578,683,000& 2,578,683
= 1,044,000
= 1,044,000
= 490,683




SN

Ha: 2 2Ewe L N (MI=X/2E)
CHoll 2R B SAY (Etol & e
_ _ _ Muo
A3 - 22A(ZAH) - MBAY - BE=S &hoh Ofl At ot HusZ
03 Al& 20| 9,317 0 9,317
O=HI 2 EALY 9,317
—BEAIM A8 2,588,000,0008 *0.36/100 9.317
ZOHOl ZXSA (ASI SR /FHAHS) 3,216,595 3,081,150 185,445
= 1,245,952
= 110,821
3 716,334
T 1,143,488
ZOHO! AFBIEHO! 2HCH 727,217 673,665 53,612
= 275,789
= 95,321
T 356, 167
ool ABES N (FHLESEENE) 341,659 338,620 3,039
= 239, 161
= 34,166
= 68,332
307 QI2+0IA 341,659 338,620 3,039
= 239,161
= 34,166
z 68,332
05 QI2teiera 341,659 338,620 3,039
O=HI 2 EAHYS 341,659
— 24Ol AFBIEE X 341,659,000 341,659
= 239, 161
= 34,166
T 68,332
ZOHO! ME=X QTR HE 202,170 166, 165 36,005
201 Lere gl 40,290 35,405 4,885
01 At 22l 39,240 34,805 4,435
Oger+g| 22,000,0008! 22,000
osg+g 10,340,000 10,340
ozl 3,500,0002 3,500
oYtz 3,400,0002 3,400
02 ZZegl 1,050 600 450
OBZ2ILHIAI 1,050,0002 1,050
202 01t 6,480 3,360 3,120
01 =W oIt 6.480 3,360 3,120
OFNUSXAIM FA U HAXH
4,320,00084 4,320
ONBAMDBSUY G1ats] &4 L YOXX
2,160,0002 2,160
203 YR FAH| 1,000 1,000 0
03 AlBZEZL2EAY| 1,000 1,000 0
OFOjel SXAZ & 1,000,000& 1,000
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2N =
X

B ool ZXST(MSIZX/HAHST )
CHol FOO! AFSIE O ) CEERE]
_ _ SIEN
SH-EH . S2(30) - MRAY - BES Ofl & 04 Sl ko HRE2
301 YuE A3 12,600 5,600 7,000
01 AIBIEE X =0dl= 7,000 0 7,000
O&oe 2&3I XN& 7,000,000& 7,000
10 BAAH S A3 5,600 5,600 0
OFOHR STHSABAL FET B4
30,000& 40 1,200
OEXTOIL HA FAT B4
30,0003 *40H 1,200
OFOHOl SACHLSA HAT 24
50,000& 40 2,000
OZZH0HO 12XE HANAS HAT 24
30,0002 *402 1,200
307 GI12+0I A 126,800 105,800 21,000
02 BIAANEX 111,800 86,800 25,000
OAIZHZO0H el SHAHl=& 3 3,000,000& 3,000
OXNMEOML 2HXA 7,000,000& 7,000
QFoel =XS& el 18,000,000& 18,000
OANZZel Aeldlz 23 3,000, 000& 3,000
OQOIAl THAZ K 2,000,000% 2,000
OEMHEAl 2] 25,000,000& 25,000
OAME T SAE 29 9,000,000& 9,000
OFY == 24| 4,800,000& 4,800
OFO J=HE X& 4,000,000& 4,000
OAIZFOfRl ABIXS 28 XI” 6,000,000 6,000
OFOQIIIE XNME 2% 30,000,008 30,000
03 MIBIEHMEX= 15,000 19,000 A4,000
OFOMAHH X& 15,000,000& 15,000
405 KHoHESHI 15,000 15,000 0
01 MR ESF=H 15,000 15,000 0
OFOHQl Bol 928F 72 15,000,008 15,000
Z0He M=s24dst XA 8,572 3,810 4,762
& 4,286
2 4,286
307 212t01& 8,572 3,810 4,762
= 4,286
2 4,286
02 QltFAE X 8,572 3,810 4,762
OSHIEZ ALY 8,572
— &0 M=sotel XA 8,572,000& 8,572
= 4,286
= 4,286
ST =015 XA 122,550 114,670 7,880
& 49,020




2N =
X

X{ ZH -
o= -

2Ol
[pal
o>
fon
J
=
~
m
2
=

]

=
o

fe=)
ool &

il
SE
b
B
o
40
5
=
=
il
>
19
&
0x
o
=
z
12
m
i
12
=
EJ
Ol
0

M

73,530

307 2120l & 122,550 114,670 7,880

49,020
73,530

M H1

02 BItANEX 122,550 114,670 7,880

C>‘:I
OSHIE XS AY 122,550
= [¢]

122,550,000 122,550

49,020
73,530

Mk

HOHOISIHEXH (H0H0tS MHEXZ) 52,326 0 52,326
36,628
7,849
7,849

A

307 2

e
N

HOl & 52,326 0 52,326
36,628
7,849
7,849

W

05 52,326 0 52,326

52,326
52,326,000& 52,326

36,628
7,849
7,849

[

O 1.

o
= ¢
Jad HroJp

P4 0U

=

e

0z
()
S
o
=
e
pall
i
paal
o

MW

0Nl MEAE X 933,482 887,782 45,700

1,576
110,821
532,613
288,472

A H1 A W

ZO0He EXNAIE X& 202,067 183,060 19,007
110,821
20,467
70,779

M 1 AC

307 GI12t0lH 202,067 183,060 19,007
110,821
20,467
70,779

M H1 AL

02 2ItAAE X 202,067 183,060 19,007
T A 202,067

ol MREHE =29 80,000,000& 80,000
30,113
6,800
43,087
—He=ENa 22 24 122,067,000 122,067
80,708
13,667
27,692

M A

M H1AD
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SN FEOIMEX D
M2 HOHQ XS (ASSK/FHAHEX )
Sl ZOHOI MBAL X (e
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gil it o B2
—XIHMFOHQ HOIALNAME X2
30,000, 0002 30,000
= 9,000
2 21,000
ZSTHO MSEHO L HS2RE 23 9,288 9,288 0
= 4,464
2 4,824
301 LHBAI 9,268 9,288 0
= 4,464
2 4,824
01 AtSIBEE 253 9,268 9,288 0
OZHIBEAIY 9,268
—EETOY HSHHO N (ASAHIIS
o) 6,688, 0002 6,683
= 3,344
2 3,344
—EETOY HSEHO KR (HLSUHEDI
2R 0H) 2,000, 0002 2,000
= 1,000
2 1,000
—Zojol HS22E X 600,000 600
= 120
2 480
ZONQl SXAIL EAL L MBX XD 67,781 0 67,781
= 33,434
2 34,347
307 2120l H 67,781 0 67,781
= 33,434
2 34,347
VIR EES 67,781 0 67,781
OZHI B E AL 67,781
—ZOHOl EXAE BAK =
65,000,0002 65,000
= 32,500
2 32,500
—MET EIIRAH X & 2,281,0002 2,281
= 684
2 1,597
—MBT EHSAY X 250,000 250
= 125
2 125
—MBT BSS AZH X 250,00024 250
= 25
2 125
BOH MEON X 1,555,836 1,469,703 86,133
= 968,567
= 88,400
2 498,849

~




S E
X ZH - K|
S Tt

fe=)
ool &

el
x
M
-
0
=0
fon
2
>
el
=
R
=i
X
I
=
[
2
2
R
12
o
£l
0l%
IS

SOHE O == AL 38,000 38,000 0
19,000
9,500
9,500

W

402 BI2HHE01& 38,000 38,000 0
19,000
9,500
9,500

MW

EES 33,000 38,000 0
EJL= 38,000

= ZOH FeNBL A
38,000,000 33,000

19,000
9,500
9,500

MW

HEZO JIs&st 5,600 35,600 230,000
2,800
2,800

EURGH

301 et a= 1,600 1,600 0

800
800

Mk

01

>
o

4>
&E
0

,600 1,600 0
,600
1,000,000& 1,000

500
500

o K

O
H

O HT 0
2 o)A
>
R

|
O
0x
04
=
e
4]
[P
=

Ml 1

I
O
Ol
2
0x
021
2
e
Mo
[Bal
e
Q
4
Jn
==

600,000 600

300
300

U

307 2120l & 4,000 34,000 230,000

2,000
2,000

Mok

EN 4,000 34,000 30,000
& 4,000
el Jlsss U= 4,000,000& 4,000

2,000
2,000

02 2I2+td &
all

Ml

S8Hs Z0HY =<0/ XX 88,064 123,959 35,895

26,419
61,645

U

101 el 24l 88,064 123,959 235,895

26,419
61,645

U

04 JIZtHZ2 S E= 88,064 123,959 A 35,895
OEHIEX=AY 88,064




2N =
X

B ZOHel SXSE (MSIZX/HAANET )
Sl Tojol MEOIN X (Erol: &2
_ _ HE T
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
—SH=s Hoel =<0/ BHXl 88,064,000 88,064
= 26,419
2 61,645
=g X= 761,396 1,105, 149 A343,753
= 532,978
= 228,418
301 Ypt8aag 761,396 1,105,149 A343,753
2 532,978
i 228,418
01 MBIEEH=0l= 761,396 1,105,149 A 343,753
O=HIE= A 761,396
— &= X2 761,396,000 761,396
= 532,978
i 228,418
ST JI=EHMHAZ 453,482 45,974 407,508
= 317,438
= 136,044
301 Yptsaazg 453,482 45,974 407,508
= 317,438
= 136,044
01 AIsIEE " =0l= 453,482 45,974 407,508
OZHIEZ ALY 453,482
~ESTHQ JEFO4AZ X
453,482,000 453,482
= 317,438
2 136,044
Ol SEXCH XA 120 160 240
= 60
s 60
301 YLerEaa 120 160 A4
2 60
= 60
01 MIBIEE X =0l= 120 160 A0
OZHIEXZ ALY 120
—HUYSE M 120,000& 120
= 60
i 60
ol =XLAel XA 29,186 31,794 22,608
= 14,593
& 7,296
i 7,297
101 el 4] 26,988 29,400 N2,412
= 13,494
= 6,747
= 6,747
04 JI2tHIZ2E2NHEE S 26,988 29,400 A2,412




S EOIMETRD
o DR SAST(ASISX/HAAHEXL)
ol ROHOl MEOIN XIS (B9 &2
_ _ HE T
SA BB H(BH) - MBAY - B2 Of) & o il i~ o HRs2
SECEENE 26,988
—ROHQ =XIYX2IAIY Qe
26,988,000 26,988
=2 13,494
& 6,747
2 6,747
201 Y2 ay| 2,198 2,394 A196
= 1,099
= 549
2 550
01 AFR 22/t 2,198 2,394 A196
O=HIEZ ALY 2,198
—EOjOl SN A 2O
2,198,00024 2,198
= 1,099
= 549
2 550
ZojQl o2yl N 28,690 13,864 14,826
= 22,952
2 5,738
01 YA 28,690 13,864 14,826
=2 22,952
2 5,733
01 ABI2EE 453 28,690 13,864 14,826
O=HIEZ ALY 28,690
—®0Hol o2H| XIg 28,690,000 28,690
= 22,952
2 5,733
ZOYQIXHA BHH| Xl 4,816 629 4,187
= 3,853
2 963
301 YA 4,816 629 4,187
= 3,853
2 963
01 AEI2EE 453 4,816 629 4,187
O2HIEF AL 4,816
—ZOHQIXI Bt X 4,816,0002 4,816
= 3,853
2 963
Dol TE K 9,000 9,000 0
= 4,500
2 4,500
307 212H0I 9,000 9,000 0
= 4,500
2 4,500
02 DINAAMBE 9,000 9,000 0




SN
I‘IiH: jc(>0
Che: &

2
J2

2
R
J2H

M H1

4,000,000&

EURCH

9,000
5,000

2,500
2,500

4,000

2,000
2,000

el FRIME =00 XI&

W

115,426
57,713
28,857
28,856

55,574

59,852

101 el 24|

MW

115,426
57,713
28,857
28,856

55,574

59,852

04 JIZtHNZ2ASE
O=HIEX AL

—ZoHel F0

QIXXIME =<0

ol ol

[l o

115,426,000

H W

115,426
115,426

115,426
57,713
28,857
28,856

55,574

59,852

EUNCH

10,000

3,000
7,000

10,000

402 2IZ2tt=01&

Mk

10,000

3,000
7,000

10,000

01

1=
e
.
P

O
H
=S
0 H Mo
03 B H
=
e m®

()
=

I
Ot

M
X
o
0

J
==
x
=

R

10,000,000&

UL

10,000
10,000

10,000

3,000
7,000

10,000

MBI EXAEHAHE

Mk

6,056

3,028
3,028

6,056

101 el H]

Ml 1

5,600

2,800
2,800

5,600

04 JI2tHZ22X
O&HE
—AESH

P
A

=
6
[eg]
=
=]
S

B OHQI

=

5,600,000&

EURCH

5,600
5,600

5,600

2,800
2,800

5,600
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SN
X XH .
S Tt

el

[
2

=2
R
J2H

M

456

228
228

456

01

Al £ U3

456,000&

EURCH

456
456

456

228
228

456

Ml

6,000

3,000
3,000

6,000

BN

6,000

3,000
3,000

6,000

dates A&

T

6,000,000&

EUNCH

6,000
6,000

6,000

3,000
3,000

6,000

AW

565,901
343,600

42,950
179,351

357,781

MW

476,101
343,600
42,950
89,551

358,261

I
e
e

x

.

Pl
s
H0
02

2,400

W
(@]

ne
rt
H
0z
oy

2,400

S
02
=

e

O

O

HL = 0 M

0z J2

A SXE2AXM

al HI-EI-§| j_én"/i\‘ /élH|_t‘l_

0,000& x20H »23]

S o 38 FAX

30,000& *40

2,400

1,200

1,200

-
12
>

o
x
==
[>
M

W

429,501
343,600
42,950
42,951

429,501

307

MW

429,501
343,600
42,950
42,951

429,501

(=)
|‘U

r
o H

O
H
HLJD
B0l
[Q

429,501
429,501

429,501
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SN
X XH .
S Tt

el

B . M. CHe (5 HEAY . B2 Al OH HEE =}
—ZH#HSOt ZIIOHY AMHlA 46,018,000 46,018
= 36,814
= 4,602
= 4,602
—otselX == AYIA 383,483,000& 383,483
= 306,786
& 38,348
= 38,349
NAANE SXNAHE =8 44,200 0 44,200
207 AN Y| 40,000 0 40,000
01 21249l 40,000 0 40,000
OX<ZAte] =XIHE =289 40,000,000 40,000
301 LEtEAZ 4,200 0 4,200
10 EALAHIBEAS 4,200 0 4,200
OX<G Az 2XAHE |d3 =
70,0003 x12H x53] 4,200
KATHOH OIXHE! 25 12,000 12,000 0
XATHAH OIXHE! XI& 12,000 12,000 0
301 L2 AZ 5,000 5,000 0
01 MI2EE X6z 5,000 5,000 0
OTHolIloh =8l 500,000 = 10AI CH 5,000
302 Ol=MolEa= 7,000 7,000 0
02 QUM E A= 7,000 7,000 0
OTHHOIXH 21 X & 200,000& «20AI CH 4,000
O et = | 3,000,000 3,000
FOSsMEIA XI& 77,800 78,280 A480
ol 2ol 2SN 49,800 44,800 5,000
301 LetEA 3 4,800 4,800 0
10 SALAHIEA = 4,800 4,800 0
OQ 28X MDILE & etets &4
30,0003 30 *x23| 1,800
ool 2o & It 3o &4
10,0002 * 10 *6= Dt *53| 3,000
307 2I2t0l™ 45,000 40,000 5,000
02 QI2tAAE X 25,000 20,000 5,000
Oo 28X gd3t K& 25,000, 000& 25,000
04 QIZHHALE X 20,000 20,000 0
O=0IMHIA &kl dAF XIR 20,000,000 20,000
FOMSTAMEIA S 28,000 33,480 A5,480
201 LBt H| 22,180 25,980 A 3,800
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S EOIMETRD
Ha: PHUW F0HM S (UNDIHY/ABHT)
ool F0l RXSH EY (B9 &)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
307 2I2+0IH 15,000 15,000 0
02 PIHFASBE 15,000 15,000 0
OMDIZE2D HE 22 15,000,00024 15,000
SACH 285 270,380 250,860 19,520
202 01t 2,160 2,640 A 480
01 2UjoIHl 2,160 2,640 A480
OMBISHH 231 AR U HALX S
2,160, 0002 2,160
203 YR =AY 1,000 1,000 0
03 AIBZ=RHREZY| 1,000 1,000 0
OABICHH 2bEts] & AI® =& 1,000,0002 1,000
301 YerBAZ 74,420 74,420 0
04 KISLHHH 2L 30,000 30,000 0
OTISLHO ObAlY| 30,000, 0002 30,000
10 BAAHIE A2 44,420 44,420 0
OMOIE 22D 22,720
-s2us 21,220
18t 111,000 %20% 2,220
2132l 180,0002! *100% 18,000
34 250,000 *4% 1,000
—XNgns 30,0002 +50% 1,500
OHZ 2OIOAl HAS 9Is DT L HLEA
30,0002 30 *57H £ 1| +23] 9,000
OMOISXISXITHE &4 10,0002 +1,000% 10,000
ORVSSHH M2 SO &A
30,0002 %3023 *3E4 2,700
307 2120l H 192,800 172,800 20,000
02 PIHAABE 30,000 15,000 15,000
O XHME K 15,000,00024 15,000
OMOIS E2iAY X 15,000,00024 15,000
03 AEISHHIRE2 157,800 157,800 0
OSAEH 245 X 157,800,0002! 157,800
04 QIABALRE 5,000 0 5,000
OMOIZXIER B0IS CHE TS X2
5,000, 0002 5,000
THAZA S (AEI SR/ AL SR L8t 115,378 15,421 ~43
= 20,235
= 20,118
2 75,005
RRAZ A 45 115,378 115,421 A43
=2 20,235
= 20,118




A FRIMEX A
M TESA SH(AZSXI/ALS SR L8
el ANESAE 2dEt (et =3
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
= 75,025
AESA 2CUIOIE XIE A 39,928 30,471 9,457
= 15,235
S 7,618
= 17,075
101 1A 39,928 30,471 9,457
= 15,235
= 7,618
= 17,075
04 JIZHZ2HSE= 39,928 30,471 9,457
O=ZHIEX=AS 30,471
—NESAE 2OUIO0IH XIZ A
30,471,000& 30,471
= 15,235
S 7,618
= 7,618
OX&EsS At ZOUIole &&= X&
9,457,000 9,457
NESALA E8 = K& A 10,000 10,000 0
= 5,000
S 1,500
= 3,500
307 2120l & 10,000 10,000 0
= 5,000
= 1,500
= 3,500
06 23 10,000 10,000 0
O=3HIEX=AS 10,000
—KSAHL doi2E Jt2ldl 10,000,000 10,000
= 5,000
= 1,500
= 3,500
AAESA X 2 HH 2F 43,450 52,950 29,500
201 YEHRHH| 10,650 6,850 3,800
01 AtR 22/t 10,650 6,850 3,800
Ogt==2H| 8,150,000& 8,150
o=2d=+d 500,000& 500
O=&tl 400,000& 400
Ogx= 1,600,000& 1,600
206 M= dl 1,200 1,200 0
01 M=l 1,200 1,200 0
Ouche=2d M+ 100,000& 128 1,200
301 LutEas 22,600 20,900 1,700
10 SAHAHIEA S 20,600 18,900 1,700
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M GAZA S (ABI=/AIBI =X LY
Sl TREA B (9l &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 0ff &+ o4 0 At of HlmS2
OS2 0IBAHIA AN B2 AUy
10,0002 +5 % *43] + 122 2,400
ONASA B3l DT &A
10,0002 2024 *33] 600
OF RESAX el &4 30, 00021 *40% 1,200
O S9 UHHSA 1S &4
30,0002 *2024 *23] 1,200
OERL0 S22A 12,0002 501702 10,200
ONBSAR SH0HSTE BAX 243
10,0002 *500% 5,000
12 JIEE N3 2,000 2,000 0
ONESAZE 24T XIRH 2,000,0008 2,000
307 Q20| 9,000 9,000 0
02 BIANBAEE 4,000 4,000 0
OgrISosl #A 4,000,0002 4,000
03 ABIEHRIEZES 5,000 5,000 0
O ZAEHH X2 5,000,000 5,000
RNESA 2L X2 22,000 22,000 0
= 11,000
2 11,000
301 YPAD 2,000 2,000 0
= 1,000
2 1,000
10 BAEI 243 2,000 2,000 0
OZHI 2 XA 2,000
~TAZAR &% 2,000,00024 2,000
= 1,000
2 1,000
307 Q20| 20,000 20,000 0
= 10,000
2 10,000
02 QIAAMBE 20,000 20,000 0
OZHIEZAL 20,000
~XEZ A ZABH(ZAME) X2
20,000, 0002 20,000
= 10,000
2 10,000
2O ZHHEF (MBS /I ZLMERT) 7,757,723 7,476,496 281,227
= 6,052,230
= 781,957
B 2 923,536
2V ZMEBE LA 146,760 132,320 14,440
= 17,800
2 128,960
IIEMHLTI MET 2 51,860 92,320 40,460




SN FOIMEX D
M 20| MBS E(ABIEX/ ) EZMELE)
Sl FeOIZMEEE fA5 (e e
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
201 Yere | 14,740 33,360 ~18,620
01 AtR22lt| 14,740 33,360 18,620
OYLP LB (SBEA 8,300, 0002 8,300
CE-FH-TGIEF'ELES 840,000 840
OSHI(SEEA) 3,000, 0008 3,000
SEELIIGEETR) 2,600,0008! 2,600
202 04t 15,120 12,960 2,160
01 =2UHoitl 15,120 12,960 2,160
OJZMESTVUY YL FX 8,640, 0002 8,640
OSE XA 222 He 6,480, 0002 6,480
203 RFAH| 3,000 2,000 1,000
03 AIHZTYRZAY] 3,000 2,000 1,000
ONASE 22l g2 1,500,0008! 1,500
OSE XA g2XA 1,500,000€! 1,500
01 Leea 19,000 19,000 0
NIEEEERTE 19,000 19,000 0
OJIZMESSR KA SH0{ ) 19,000
—25 B34 100, 0002 *902 9,000
il 200,000 *50% 10,000
IIEMELZR BIIAE HEAE 48,900 0 48,900
= 4,000
2 44,900
201 Yereg| 23,900 0 23,900
= 4,000
2 19,900
01 AtR22lH| 23,900 0 23,900
OZHI B EAY 4,000
—IIZMEAST BIANL B
4,000,0002 4,000
= 4,000
OJIZMBHZN FIIAE HA(XH)
19,900,000 19,900
206 M2l 25,000 0 25,000
01 M| 25,000 0 25,000
OJZMELBT MIIEH H2PY
25,000,0008! 25,000
IIEMELTR FAHS BN LAY 46,000 40,000 6,000
= 13,800
2 32,200
402 BIR20IH 46,000 40,000 6,000
= 13,800
2 32,200
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7,610,963
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794,576
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266,787

wnss0 X2
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131,262
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48,600
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14,580
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5,418,342

403,233
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5,418,342
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11,880
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301 Let2a= 39,600 0 39,600

11,880
27,720
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SEEES 39,600 0 39,600
EXAS 39,600
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11,880
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132,204
132,204
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96,000
12,000
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301 LerEAZ 41,312 5,212 36,100
33,050
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,647,508
,238,829

191,504
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1,537,532

109,976
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83,200
66,983

6,083
10,134

321,376
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307 QI12told
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6,083
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321,376

A238,176
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164,708
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R
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NASIHaRIAHE SEXNE 65,520 109,200 A43,680
32,760
32,760

M

101 1A 65,520 109,200 A43,680

32,760
32,760

Ml 1

04 JIZAHZ2NHESE= 65,520 109,200 A43,680

OSHIE ALY 65,520
—HAS MARAHS SEXNE AL
65,520,000 65,520

32,760
32,760

Mok

KNSR HE SAHA X 13,000 13,000 0

6,500
6,500

BN

307 2120l A 13,000 13,000 0

6,500
6,500

U

=
e
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o
e

13,000 13,000 0
o 13,000
FAIE SAEAE R (1)

13,000, 000& 13,000
6,500
6,500

B H
=
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I
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R o0z

>
g

Mk

SIS E AY 22,886 0 22,886
18,310
2,288
2,288

AW

301 Let2a= 22,886 0 22,886
18,310
2,288
2,288

W

01 A2 A0z 22,886 0 22,886

Ated 22,886
—5|YINSSE M 22,886,000 22,886
18,310

2,288
2,288

MW

NASE SA & 355,279 632,826 N27T7,547
56,559
23,816

274,904

H W

Fi=1=PN 70,699 48,267 22,432
56,559
7,070
7,070

H MW
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S FOIMERIRD
Ha: YASS MEBOH XS (MISX/IIZNERT)
o9 ASSE =X N (69l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
301 YBrEAZ 70,699 48,267 22,432
= 56,559
= 7,070
= 7,070
01 AtSI2Z =452 70,699 48,267 22,432
O=HIEF ALY 70,699
—2AZ2EX N 70,699,000% 70,699
= 56,559
= 7,070
2 7,070
MBINEE o220 X8 63,760 67,600 A3,840
202 01| 2,160 6,000 A3,840
01 =UHoitl 2,160 6,000 A3,840
OUI2N 212 2= 2, 160, 0002 2,160
301 YerEA3 61,600 61,600 0
01 AtBl 2= =462 60,000 60,000 0
Oolzig 20 L AF=TAL 92
30,000 *1, 0004l CH*23] 60,000
12 JIEtR &2 1,600 1,600 0
O AL FHIYI 50000021 +2% 1,000
S0l ATAY 24 20,0002 +30% 600
NASIHE X 180,000 178,000 2,000
301 YerEAZ 180,000 178,000 2,000
01 ABIZEE453 180,000 178,000 2,000
OXASIHE AYLER N2 70,000,0008 70,000
OMAAMAZ A2 7S X
40,000,000% 40,000
ORASIHS YHA2AZ N 70,000,0008 70,000
HASE D=2 N 22,500 24,750 ~2,250
= 11,250
2 11,250
301 YerEAZ 22,500 24,750 ~2,250
= 11,250
2 11,250
01 AtSIEE 2513 22,500 24,750 A2,250
OZHIEZ ALY 22,500
~HASS AYN DERYH X
22,500,000% 22,500
= 11,250
2 11,250
NASS X HEAL 18,320 34,350 £16,030
= 5,496
2 12,824
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FH: F=QIMETA 0
ME: HASS MBUHE N (ASZX/IZLERT)
el MaASE =X N2 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
301 YptBaag 18,320 34,350 A 16,030
L= 5,496
= 12,824
01 MIBIEE A =0l= 18,320 34,350 216,030
OZHIE= A 18,320
—NASE TUH UE ALY 18,320,000& 18,320
& 5,496
i 12,824
LOoISX S (AMESK/ 0l - HAaH 27,354,484 26,727,590 626,894
= 15,276,501
&2 379,000
= 3,333,661
= 8,365,322
TEHLEMRRUYRA 2Y 1,203,884 1,133,168 70,716
= 79,141
& 146,455
i 978,288
LOoETAYE XN (L) 1,046,288 971,722 74,566
= 133,263
= 913,025
101 Q1 Z4H| 893,335 858,769 34,566
= 42,900
= 850,435
04 JIZtHIZ22HEE > 893,335 858,769 34,566
OSHIEXZ ALY 88,400
—LoSXAIE SAMA =F 88,400
- IAHE=SY 200,000 *34H «12& 81,600
= 42,900
= 38,700
dE 100, 000& «34H »23] 6,800
O=n 386,112
— A2 S XA 1,051,000& x1E*12& 12,612
—SCIXZAM 935,000& 1H~12& 11,220
— A 935,000& x1H « 123 11,220
—2tS A 1,195,000 »2E 123 28,680
—RABSA 877,000 x25H «12& 263,100
—AMA 757,000&3 x1H+ 1228 9,084
—xcl# 757,000& x3E 12 27,252
—EE A 1,912,000& x 1«12 22,944
OoJlg=¢ 352,644,000% /122 58,774
Oodz=+¢ 352,644,0009 /12%0.7+2 41,142
OFIIZHZ(5E014) 40,0002 10«12 4,800
OJHAIXI &bl 352,644,000& /12%2 58,774
ONAEZSE 50,0003 *34E 12 20,400
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FOMETRY
LOIEX S (MIEX/ =0 HAH)
PaLoEEge 2o
SN HB - S2(3H) - MEAY - BAS Aol e
Osx=2224 21,840
— M E=X| A 40,000& x1H*12& 480
— G 2FA} 40,000& x1H*128 480
—2tS A 40,000 x2H x12& 960
— M =R 60,000 x25H «12& 18,000
— MR 40,0003 x1H*12& 480
— X2 40,0003 x3H =12 1,440
OnszAal 110,000 *34H x 12& 44 880
OYZE S| 352,644,000 /12%0 . 5%2 29,387
Oddzz44 23,629
— MES XA
1,051,000 /226%1.5%10Al 2tx1H 12 838
— =2l XIS A}
935,000& /226%1.5%x10Al 2tx 1 = 12& 745
— G 2FA}
935,000 /226%1.5%x10Al 2t *1H 128 745
—2tS At
1,195,000& /226%1.5%10A| 2tx2H 128 1,904
—MET =
853,000 /226%1.5%x10A| 2t+25H « 128 16,985
— MR
757,000 /226%1.5%10A| 2t* 1« 128 603
—Xxz|¥
757,000 /226%1.5%x10A 2+ *3H 128 1,809
ONs< 15,600
— b S Xt 30,000 x20H x12& 7,200
—J|Et 20,000 x35H x12& 8,400
O4UiEEg = 674,174,000 *8.84/100 59,597
OEES= 40,000,000 40,000
A Ht2AY| 112,953 112,953
= 90,363
= 22,590
At 22| H] 68, 106 68, 106
OEHIEXZAIE 68, 106
—DELONMELQAURY 2AHH| 68, 106,000& 68, 106
= 54,485
iy 13,621
S229H| 41,607 41,607
OZHIBZAE 41,607
—ZELONERAI 22 41,607,000 41,607
= 33,286
iy 8,321
SHAF2EHI 3,240 3,240
OEHIEXZAIE 3,240
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= 96,000
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—ASITHOLOI = (2HAI, 25N RA B S 2 (25Y)
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10,320
41,280

U

QItEFAlE X2 9,600 3,400 6,200
4,340
5,260

Mok

307 2120l & 4,600 3,400 1,200

1,840
2,760

Ml

02 CIZtA A

ES 4,600 3,400 1,200
A 4,600

SAE X (2MH2) 400,000 400
160
240
—QI2ESAE XA (10HL) 3,000,000& 3,000
1,200
1,800

U
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—QIHESAIL o2 X (40 A)
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720

EURY
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Ml 1
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Sl OHAIGID 2 & Y= BRHY T4 (el &2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
SEEEIE 37,500
—2SDA HRIHAHI(74%) 29,400,002 29,400
= 8,820
2 20,580
—BSALBAR HSLD(81Y)
8,100,0002! 8,100
= 1,620
2 6,480
BEAL BHHM 2,000 2,000 0
2 1,000
= 400
2 600
402 QIR 201 2,000 2,000 0
2 1,000
= 400
2 600
01 PIATEBE 2,000 2,000 0
SETI=EINE 2,000
—BSAE ZHIHI(1HA) 2,000,000% 2,000
2 1,000
= 400
2 600
SENLS 30,000 30,000 0
2 15,000
= 6,000
2 9,000
401 Al&HIL 20| 30,000 30,000 0
2 15,000
= 6,000
2 9,000
01 Al&H] 29,676 29,676 0
SETICEINL- 29,676
— A0 RIOIE TR e 29,676,002 29,676
2 15,000
= 6,000
2 8,676
03 Al& S CH| 324 324 0
SETCEINL- 324
— A0 RIOIE TR e
30,000, 0002 *1.08/100 324
ggZ20y X 555, 100 555, 100 0
202 01t 1,800 1,800 0
01 =2Uioib] 1,800 1,800 0
OESAL NEH 1,800,0002 1,800
301 LPB A 552,000 552,000 0
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_ _ _ Muo
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12 JIEt2 A2 552,000 552,000 0
O TZIHAI 552,000
—~ ¥ R0 Y| 200,000 +200% * 122 480,000
— st 150,000 *40% * 122 72,000
307 QIO 1,300 1,300 0
02 PIHAMBE 1,300 1,300 0
O2SAY MRBHRE T2 KR (13HL
) 1,300,0002 1,300
BESE MHI2 819,894 964,204 A144,310
= 409,947
= 163,979
= 245,968
307 QI2H0|H 819,894 964,204 A 144,310
= 409,947
= 163,979
2 245,963
02 PIYMBE 819,894 964,204 144,310
ORI 2EAH 819,894
—Z AR Q1248(53%) 761,814,0002 761,814
= 380,907
= 152,363
2 208,544
—SUERSDA SE224(M4Y)
58,080, 0002! 58,080
= 29,040
= 11,616
2 17,424
DR 6,000 8,568 A2,588
=2 3,000
= 1,200
= 1,800
307 QIO H 6,000 8,568 A2,588
= 3,000
= 1,200
2 1,800
02 pIANBABE 6,000 8,568 A2,588
O3 2 XA 6,000
— DT, RPHI(6MH2) 6,000,0002! 6,000
= 3,000
= 1,200
= 1,800
Nl 21,600 20,938 662
= 10,800
= 4,320
2 6,480
307 QI2H0IH 21,600 20,938 662
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= 4,320
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2 503,919
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= 335,945
2 503,919
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~%S 2S2(366) 1,004,930, 0002 1,004,930
= 502,465
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2 301,479
— 0I5 0F BE 2 (602) 120,722,000 120,722
= 60,361
= 24, 144
2 36,217
—~HOHOIR4 BSE(3) 15,754,0002 15,754
= 7,877
= 3,151
2 4,726
—STH0lY SR (402Z)  64,812,0008 64,812
= 32,406
= 12,962
2 19,444
— Ot 2SR (108)  10,566,0009 10,566
= 5,263
= 2,113
2 3,170
—JI=2E]2 NA(185H)  462,944,0008 462,944
= 231,472
= 92,589
2 138,883
SSDA 2D S| 1,080 2,236 A1,156
= 540
= 216
2 324
307 QI2H0|H 1,080 2,236 A1,156
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